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1 Background 

I have been asked to evaluate whether it is likely to be more 
economic to build a separate rail track and corridor as opposed to 
expand the operation of existing facilities in long heavy-haul rail 
networks in the Pilbara. This evaluation is in the context of access 
seekers wanting to utilise existing rail networks for above rail haulage 
operations. Specifically, the issue is whether it is “uneconomic for 
anyone to develop another facility to provide the service.” The 
purpose of this exercise is to provide the relevant economic 
approach to this issue in order to properly formulate the evidence 
needed to make the required evaluation. 

This brief report proceeds as follows. First, I consider the application 
of the pure natural monopoly test and conclude that it is likely to be 
unsuitable for this environment. Second, I consider a net social 
benefit test as favoured by the Australian Competition Tribunal. I 
show how this can be evaluated in the case of long-haul rail networks 
and also propose an evidentiary test to determine whether a rail 
network would be economic to duplicate or not. 
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2 The Natural Monopoly Test 

To begin, I examine the natural monopoly test and evaluate its 
usefulness in the assessment of criterion (b). The traditional 
definition of a natural monopoly is this: 

An industry is said to be a natural monopoly if for 
any given output, the social costs of production are 
lower when that output is produced by one rather 

than two or more firms.1 

Notice that this is defined relative to an “industry” and with respect 
to the number of firms as opposed to facilities or plants. Of 
relevance here, the industry refers to the service of using a given 
section of rail track in the Pilbara for the requirements of both its 
owner and also other prospective users (such as FMG). 

This service could be produced by one firm or more than one firm. 
It is considered a natural monopoly if the social cost of providing the 
service would be lower if just say, its owner, provided the required 
service compared with its owner and others doing so. 

Technically, examining whether a service constituted a natural 
monopoly would involve considering whether, for any given level of 

industry output, 𝑄 with 𝐶𝑖(𝑞) being the (social) costs of production 

for firm 𝑖 for an output of 𝑞: 

𝐶𝑂𝑊𝑁 𝑄 ≤ 𝐶𝑂𝑊𝑁 𝛼𝑄 + 𝐶𝑂𝑇𝐻 (1 − 𝛼)𝑄  

for any arbitrary fraction, . Notice that this test requires one to 
examine all potential levels of industry demand; or at least those that 
are reasonably expected to arise. So while it may be that, for low 
levels of output, the above inequality is satisfied, higher levels may 
make having more than one producer cost effective. In this case, the 
industry would not be considered to be a natural monopoly. 

2.1 Capacity constraints 

When a facility is being utilised at a level below its potential capacity 
and seeker demand would be unlikely to raise it to that capacity, even 

                                                      

1 See, for example, Joshua Gans, Frances Hanks and Philip Williams, “The 
Treatment of Natural Monopoly under the Australian Trade Practices Act: Three 
Recent Decisions,” Australian Business Law Review, Vol.29, No.6, December, 2001, 
pp.492-507. 
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aside from natural monopoly considerations, it is plausible that 
accommodating seeker demand would be preferable to duplicating 
the capacity in the facility. However, note that the very existence of 
capacity constraints means that there exist levels of demand such that 
duplication will be cost minimising. Recall that a natural monopoly is 
evaluated at all potential outputs for an industry. However, if a plant 
or facility were to reach capacity, then, by definition, the marginal 
costs associated with exceeding that capacity are infinite. Thus, to 
produce anything beyond that capacity requires another plant or 
facility. 

Consequently, industries with capacity constraints pose a particular 
issue for the application of the natural monopoly test to evaluate 
whether a facility is uneconomic to duplicate. I will argue here, 
therefore, that the pure application of that test is not appropriate. 

What would happen, however, if we took a more limited view of the 
natural monopoly test and restricted it to plausible ranges of demand. 
At a first pass, this might suggest that, if plausible demand in an 
industry were to reach capacity then, it would not constitute a 
(partial) natural monopoly because the costs associated with meeting 
that demand would be lower if two plants or facilities existed. One 
issue that I will consider in more detail in Section 3 is that this places 
an undue weight on costs without consideration of demand drivers. 
However, another issue is that this type of analysis confuses a facility 
with a firm. However, as I argue here, this is not necessarily the case. 
Even when plausible demand exceeds capacity that does not imply 
that it is cost minimising to duplicate a facility. 

To see this, consider a single track rail line. Suppose that it is assessed 
that this single track rail line has reached capacity. Hence, to meet 
higher levels of demand a second rail line needs to be constructed. 
Does that mean that the industry is not a (partial) natural monopoly? 

It is unlikely that this is the case. This is because the issue for natural 
monopoly is not whether one, two or ten rail lines are necessary to 
meet demand. Instead, the issue is whether there are economies to be 
realised from common ownership and operation of them. 

There are good reasons to believe that those economies would exist. 
On the one extreme, suppose that one track travels through a canyon 
and it is not possible to build the second track anywhere near it. 
Instead, the second line – still connecting the same two locations as 
the first – is built on another, very separate path. In this situation, 
having a coordinated system operating the two would be beneficial. 
Why? Because one line could be used for incoming traffic while the 
other could be used for outgoing traffic. That would reduce the costs 
of scheduling two-way operations. 
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On the other extreme, the rail racks could be side by side. In this 
case, links between them could optimise the flow of traffic and allow 
more efficient management of trains with differing speeds and also 
who might travel on only certain lengths of the track. 

On an intermediate level, each line could have connections between 
them that would allow each to be used as a passing loop for the 
others to manage traffic of heterogeneous speeds. Once again, this 
demonstrates the returns to networking as opposed to fully separate 

facilities.2 

That said, in principle, each of these lines could be owned by 
different entities. The firms could then contract between each other 
to ensure that economies of coordination are realised. However, this 
will likely impose transaction costs that would not otherwise be 
incurred if the system was commonly owned and operated. 

The point to note here is that capacity constraints, while making it a 
little harder to evaluate whether an industry is a (partial) natural 
monopoly, do not rule it out. 

2.2 Foreseeable demand 

There is also a difference between natural monopoly and the notion 
that it would cost more to satisfy foreseeable demand by developing 
another facility. As noted earlier, a natural monopoly is evaluated at 
all levels of demand. Thus, the fact that the access provider had 80 
percent of that potential and seekers 20 percent, would make no 
difference in the evaluation of a natural monopoly. However, 
whether it would cost more to satisfy the 20 percent seeker demand 
in addition to the provider‟s demand is relevant for criterion (b). 

To see this, consider the following hypothetical example. Suppose 
that it costs $300 to develop a rail line and the marginal costs of 
operating the rail line rise from $0 for the first 50 units to $10 per 
unit for the next 50 and that capacity is reached at 100 units. Suppose 
also that provider demand is 70 units and seeker demand is 20 units. 
Finally, we suppose one rail line already exists so that its 
development costs are sunk. 

Now under the natural monopoly test we would ask: is it cheaper to 
have two lines to satisfy the 90 units of total demand or just have one 

                                                      

2 See, for example, the discussion in J.M. Preston, “A Simple Model of Rail 
Infrastructure Capacity and Costs,” ITS Working Paper, No.370, Institute for 
Transport Studies, University of Leeds, 1992. See also, NERA, “Review of 
Overseas Railway Efficiency,” Report for the Office of the Rail Regulator, July 
2000, that documents returns to rail network size and density. 
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line. With one line, the total costs are $10 x (90 – 50) = $400. With 
two lines, the total costs are $300 + $0 = $300. Thus, it is cheaper to 
have two lines; so it is a natural monopoly at this level of demand. 
Why? Because once you allocate demand optimally across both lines, 
the savings in marginal cost outweigh the additional development 
costs. 

However, it cannot be presumed that, if the additional rail line was 
owned by another party, the incumbent provider would want or be 
able to allocate demand to it. In this case, with an additional line, 
total costs are $300 + $10 (70 – 50) = $500. That is, total costs are 
higher with an additional line than would be the case if we just had 
one line. 

Thus, the application of the natural monopoly test presumes that 
after another facility is developed, demand will be allocated optimally 
across all facilities. It is an evidentiary matter whether this is likely to 
be the case or not. However, it cannot be presumed that this will be 
the case when those facilities are owned and operated by different 
firms. 

2.3 Summary 

What this analysis suggests is that the strict application of the natural 
monopoly test is not likely to be relevant in the application of 
criterion (b). Instead, something more in the spirit of that test but 
that takes into account likely ranges of demand and their use patterns 
across facilities will be relevant. I consider such a broader approach 
in the next section. 
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3 The Net Social Benefit Test 

According to the Australian Competition Tribunal, the test for 
criterion (b) is a social test: 

[the] test is whether for a likely range of reasonably 
foreseeable demand for the services provided by 
means of the pipeline, it would be more efficient, in 
terms of costs and benefits to the community as a 
whole, for one pipeline to provide those services 
rather than more than one. (Duke EGP decision, 
para 137) 

…the uneconomical to develop test should be 
construed in terms of the associated costs and 
benefits of development for society as a whole. 
(Sydney Airport) [emphasis added] 

Notice that the test considers not only the social costs associated 
with developing another facility but social benefits as well. In 
contrast, the natural monopoly test and approach either ignores 
social benefits or presumes that these benefits are the same 
regardless of whether another facility is developed or not. 

Here I argue that not considering the benefit side of the social 
decision equation can lead to misleading results in certain cases. In 
particular, the benefits realised can differ between the factual (no 
development of another facility/providing access) and the 
counterfactual (developing another facility). This is especially the case 
where there are capacity constraints in the short, medium and/or 
long term. 

3.1 The Social Decision Tree 

In economics, an evaluation of whether it is „economical‟ to take an 
action is conducted by comparing the net benefits that flow from the 
consequence of taking that action with those that arise from doing 
the next best alternative. If the net benefits from the action exceed all 
other alternatives, then that action is said to be economical. 

When it comes to the consideration of whether it is economical not 
to develop another facility, or equivalently, uneconomical to develop 
another facility to provide the service, a decision tree can be 
constructed to assist in evaluating the net benefits associated with 
each action. 

Figure 1 shows such a decision tree. The tree begins with a decision 
node (the square) with two branches extending from it. The top 
branch corresponds to the choice of not developing another facility 
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while the bottom branch corresponds to the choice of developing 
another facility. At the end of each branch, we have said in words 
what the consequence of each action is.  

 

Figure 1: Social Decision Tree 

 

 

Analysis of this decision tree requires us to do a few things. First of 
all, we need to carefully unpack the consequences in terms of net 
social benefits flowing from each action. Second, we need to evaluate 
what the best alternative is to providing access. That is, we need to 
consider the appropriate counterfactual. In what follows I consider 
each brand in turn. 

3.2 The Factual 

There are several consequences that will flow from no alternative 
facility being developed and seekers being able to access a rail line. 

1. Usage: Non-owner usage will occur on the rail line.  

a. In the absence of any congestion on that line this will 
be a pure increment to the rail line‟s utilisation. 

b. However, if, at any time, there are capacity or 
scheduling issues, then seeker usage will be managed 
as part of the overall mix. Thus, some of the usage 
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from seekers will displace the provider‟s usage that it 
would have had had there been no access. In this 
case, usage is said to be constrained. The extent of that 
displacement will depend upon the value of the ore 
being transported as well as the relative efficiency of 
the mining operations of seekers. 

c. For use later on, it will be assumed that the provider‟s 

usage under access will be 𝑄𝑎  and those of others will 

be 𝑞𝑎 . 

2. Costs: Seekers will cause additional costs on the rail line. 

a. In the absence of any congestion on that line, the 
costs associated with access will include: 

i. Scheduling: the costs of managing a more 
complex schedule 

ii. Maintenance: any costs arising from 
additional usage causing wear and tear on the 
rail lines 

iii. Accidents: any costs associated with accidents 
or the holding of adequate insurance. 

iv. Investment costs: once off investment costs 
to ensure interconnection with non-owner‟s 
transportation needs. 

b. If there is congestion on that line, the costs associated 
with access will include these costs plus: 

i. The loss in revenue from the displacement of 
the owner‟s shipments. 

c. Should the access demands cause augmentation of 
the rail line or bring forward such augmentation this 
will give rise to the following additional costs: 

i. The costs associated with the augmentation 
or the capital costs of bringing that 
augmentation forward. 

ii. Less the profit benefits to the owner that 
arise from the augmentation including 
additional shipments made possible and a 
reduction in scheduling complexity. 

d. We denote the on-going costs associated with access 

by 𝑐(𝑞𝑎 ), and for the provider, the on-going costs are 

𝐶(𝑄𝑎). The augmentation costs are 𝐴. Note that the 
profit gains to the provider from augmentation are 
relative to what it would transport in the absence of 
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that augmentation. However, measuring these is best 
taken as part of the counterfactual.  

Finally, suppose that the (inverse) demand for seekers was denoted 

by 𝑝(𝑞).3 Then (absent mining costs and beyond rail transportation 
costs), the net social benefit from access is: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴 

3.3 The Counterfactual 

The counterfactual involves evaluating the net benefits that are 
generated if another facility is developed. It is assumed here that that 
facility would not be owned and operated by the potential access 
provider. 

Using notation, I will assume that if an alternative line is built, the 
quantities of the potential access provider and the seekers become 

𝑄𝑑  and 𝑞𝑑  respectively. The quantity, 𝑄𝑑 , assumes that the potential 
provider will augment its existing track. However, it may be the case 
that, in the absence of seeker demand, it only partially augments it at 

a cost, 𝑎, to meet a lower usage of 𝑄𝑑 .4 The potential provider may 

find it more profitable to take this option. I will also assume that the 

capital costs of building another rail line are 𝐷 (including the costs 
associated with securing necessary easements and over-coming any 
environmental issues) while the on-going costs of the alternative line 

would be 𝑐𝐴𝐿𝑇(𝑞𝑑 ). 

Given this, the net social benefit realised in the counterfactual is: 

𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 

+max  𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝐴, 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝑎  

                                                      

3 Note that conceptually 𝑃(𝑄)𝑄 and 𝑝(𝑞)𝑞 could be viewed as the profits net of 

rail haulage costs for the potential provider and access seekers respectively. Thus, 
differences between them may include the quality of ore mined and the efficiency 
of their mining and logistics. Putting in all those terms is avoided here to keep the 
notation simple. 

4 I have ignored in the factual the choice over the scale of augmentation and simply 
assumed it to be the maximal level. To consider it is a little more complex than in 
the counterfactual as it depends upon the access price and other factors that will 
impact on seeker as well the potential provider‟s use of the facility. These could be 
factored in but for the moment I have set them aside. 
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3.4 Back to the Decision 

With this analysis of the factual and the counterfactual, we are now 
in a position to consider the social decision in more detail. Recall 
that, from Figure 1, a choice of developing another facility will be 
considered uneconomical if the net social benefits from no 
development exceed those from development. Using the equations 
derived above, this will occur if the following inequality holds: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 

+max  𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝐴, 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝑎  

A direct calculation of these variables would allow us to quantify 
whether it was uneconomic to develop another facility or not. 

However, it may be the case, that some variables are difficult to 
quantify or alternatively, that the facts of the case mean that certain 
simplifying assumptions are justified. In what follows, I consider 
some simplifying assumptions and demonstrate what these mean for 
the social test. 

3.4.1 What if access causes additional augmentation? 

As a first simplifying case, I examine what happens if it is the access 
demand itself that causes the additional augmentation. That is, 
suppose that in the counterfactual, the potential provider would 
choose a lower capacity than in the factual. In this case, the social 
decision inequality becomes: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝑎 

Now to simplify just a little further, let‟s assume – quite reasonably – 
that the augmentation would actually cover non-owner‟s potential 
usage requirements. If, in addition, the alternative rail line is not 

significantly more efficient than the existing rail line then, 𝑞𝑎 = 𝑞𝑑 . 
In this case, the inequality becomes: 

𝑝 𝑞𝑑 𝑞𝑑 − 𝑐 𝑞𝑑 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝑎 

Or 

𝐷 ≥ 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝑎 −  𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴  
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Notice that the right hand side of this inequality is the loss in profits 

the provider incurs by augmenting the rail to satisfy seeker demand.5 
Critically, it is not simply the additional augmentation costs that 
would arise in the natural monopoly test. 

However, suppose that the augmentation was purely to satisfy seeker 
demand and the provider would use the line to the same extent 

before and after the additional expansion. Then 𝑄𝑎 = 𝑄𝑑 , and the 

inequality becomes: 

𝐷 ≥ 𝐴 − 𝑎 

This is precisely equivalent to the NCC‟s application of criterion (b) 
in past decisions on rail access. 

3.4.2 Will augmentation occur regardless? 

Given the relatively low usage requirements of access seekers for rail 
services in the Pilbara, it may be reasonable to assume that the 
provider will augment or expand the existing line based on its own 
usage needs and independently of those of others. Further, it may be 
supposed that it will expand the line eventually to its maximum 
capacity. 

In this case, the social decision inequality simplifies to: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) − 𝐴 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) − 𝐴 

Notice that, as the costs of augmentation are incurred in either case, 
they are not relevant to the social decision. Hence, we have: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑎)𝑄𝑎 − 𝐶(𝑄𝑎) 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) 

What this equation says is that the main benefit of developing an 
alternative facility is that it increases rail haulage capacity allowing (i) 
more provider traffic to flow along it and (ii) allowing more seeker 
traffic to flow from along it. If the value of this extra traffic (in terms 
of net revenues earned) is less than the costs of developing another 
facility, it is not economical to develop that facility. 

Note that it might be argued that, even with a large degree of 
augmentation, that the provider would be capacity constrained to 
such an extent that seeker traffic could not be supported on the 

                                                      

5 This becomes especially relevant when augmentations and expansions are lumpy. 

Instead, if such investments can be tailored just to meet seeker demand, then the 
lost profits are not relevant. 
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existing line at its full opportunity cost. In this case, 𝑞𝑎 = 0 and 

𝑄𝑎 = 𝑄𝑑 . The above inequality would then simplify to: 

𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) 

or 

0 ≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 

What this says is that it will only be uneconomic to develop another 
facility if the actual private profits to the facility owner are negative. 
That is, the social version of uneconomic and the private version 

coincide.6 

3.4.3 When is a rail line likely to be capacity constrained? 

The above analysis takes into account the potential for capacity 
constraints on the existing line that mean that, should access be 
sought, then it is possible that both seekers‟ and the provider‟s usage 
may be lower than in the counterfactual. 

Suppose that this is not the case (there are no capacity constraints 
and also the provider is likely to augment its facility in any event), 

then 𝑄𝑎 = 𝑄𝑑 . In this situation, the social decision inequality 
simplifies to: 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) 

≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 + 𝑃(𝑄𝑑)𝑄𝑑 − 𝐶(𝑄𝑑) 

Or 

𝑝 𝑞𝑎 𝑞𝑎 − 𝑐 𝑞𝑎 ≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐𝐴𝐿𝑇 𝑞𝑑 − 𝐷 

Notice that it may still be the case that 𝑞𝑎 ≠ 𝑞𝑑  as the efficiency of 
the alternative line may be different from the existing line.  

If their efficiency is the same (or at least no better than the provider) 
then the social decision inequality is further simplified to: 

𝑝 𝑞𝑑 𝑞𝑑 − 𝑐 𝑞𝑑 ≥ 𝑝 𝑞𝑑 𝑞𝑑 − 𝑐 𝑞𝑑 − 𝐷 

or  

                                                      

6 There is a sense in which this case – if applicable – suggests that the social value 
of access may be zero. For this to be true, then the ore quality and mining efficiency 
of seekers and also prospects yet to be discovered would be known to be so low 
relative to the provider‟s that these activities are not worth undertaking. However, 
in that case, it would be criterion (a) that would not be satisfied. It is not possible to 
find that criterion (a) is satisfied and simultaneously that this case could arise. 
Hence, in my opinion, it is not worth consideration as part of a criterion (b) 
analysis. 
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𝐷 ≥ 0 

Hence, it is always uneconomic to develop another facility. 

3.5 An evidentiary test 

In reality, a social test is difficult to apply because demand will 
fluctuate, providing more opportunities to for seekers to access the 
infrastructure without creating a capacity issue and because overall 
demand growth will be an estimate. 

For this reason, to understand whether the economies of 
coordination imply that augmenting an existing rail network is more 
cost effective and likely to result in net social benefits than a new rail 
network (not interconnected with the existing network) to 
accommodate seeker demand, it is useful to posit an evidentiary test.  

Consider the following hypothetical scenario whereby the demand of 
all seekers is transferred to the infrastructure provider. Then, a 
facility will be considered uneconomic to duplicate if the provider 
would rather augment their own existing network than build a new 
rail network to accommodate that demand. 

This test is based on the logic of the efficient component pricing rule 
that neutralises the make versus buy decision between access 
providers and access seekers. 

Thus, to take a simple scenario, let‟s re-consider the example 
considered in Section 2.2. In that case, seeker demand was 20 units 
while provider demand was 70 units. To apply the test, we suppose 
that the seeker‟s 20 units will fetch $50 per unit in revenue (perhaps 
because it is of lower quality or harder to extract) while the provider‟s 
will fetch $60 per unit. We allocate the seeker‟s demand to the 
provider and ask what the provider will do. 

Option 1 is to put the demand on the existing network. In this case, 
by having a single line, total costs are $400 while total revenue is $50 
x 20 + $60 x 70 = $5,200. The net benefit is therefore, $4,800. 

Option 2 is to build an additional network. Doing that and re-
optimising, yields the same revenue but the costs fall by $100 as 
spreading capacity over two networks results in cost savings that 
outweigh the investment costs of duplicating that network. Thus, in 
this scenario, duplication would be economic. 

But there is a third option: to augment the additional network so as 
to reduce the high demand costs of operation. Suppose that the 
augmentation costs were $x. Then, so long as $x was less than the 
operational costs caused by higher demand ($400) and were lower 
than the costs of building a new network ($300), then this would be a 
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superior option to both putting demand on the existing network and 
building an additional network. 

Thus, if there were synergies associated with common operation of 
the expanded network rather than a duplicated network, then the 
provider would choose to do that. In that situation, the test would 
argue that it is uneconomic to duplicate rather than augment the 
network.  

The advantage of the test proposed here is that it can be asked and 
based on evidence from the provider as to how it would manage 
expansions in its own demand. If in its strategic documents there is 
no evidence that it would build a duplicate network to manage this 
demand, then the above test would force a regulator to conclude that 
the facility was, in fact, uneconomic to duplicate. 

 




















